’ {m: > ‘ melN

7
- j)fn\:x,% ) mE Z)Me”\/, wm¥o. D= IR O(Y, Co\-kon\ :
f(ﬂ) = X/d ) o € (bl‘f‘“ﬁv' ND: [:o‘.\—&) ) OO(‘: o |, '\/027,‘0-
j N >4
4 & o<
} >
O 3 x
° Ebf)MZCQ,Q) j("’l)z @L:x ) Q€ (0]4-&3 ) &#i / L=72.4
— [ Vx|
0 <1 Bu”= (&> a>1 (a=2)
{7 77
4 /n
0 3: 0 2
TJMG( = (o]+ <)

:DM({: (e +an) @&=D \*/;e‘ (oim) T xelR to ycf[“)
ED \/Je(o‘rtco\ j\[xéf)z 1. Z; Qk

2_/&” &D x= Z?;L; Ve<d |

¢ !(’1): /é);&x., Q ¢ (O(—PQ) ] afsi, :D: (o)+m3



d <4 Q=1

LA 4 A

KV
KV

ijeﬂz

EwCAIi“L‘
Q)&euvrwm Eﬁm\\‘mo M&u-z_o.@ - waf\h St
2u+2
N %(‘M\-: =
b“ {LGHZ / 2x+4 € R-—- Sapmirncy MQBWOZ M/mz 44/}=7)2
Im!= {ye&/ FxeD=R &4 la 5{=£§””3 = (o +)
ZC 2%* @D 4; ; = 2u+12 4D ¥ -: @_L‘_i_ ?
y 2
gé(o(—wov
° f(m: &dee(xz—:ﬂ Ao mayrale oL é[é
D= {xe IR/ K-1 € (o|+c0\8 = (-o0,—2> 0 (4,400

ot so &= >4 &> x* 2L & Ixl>14

/\3 C)O:?tz'
\ 1 / y:j_
= — >

{xe R/%Z>1&Q=h azem/ 3(M)>¢\S
Tefe {yeR [ Txc (o -Duloaad bl el y= 4y 0]

2
\3: &30 Cx’z—i’) a=o ,e? = ,Q,K% O QQ:\:B ,0.‘61: x=—g2 &N xzsze;a-a_
2



a=n x|= \2%s e e (~ov~2) U (142
/?_?>O \/;eﬂ? @&o odg>1 VZGTQ_ N \| o744 >4 V}/C—R

QANA Va€m [xl= \[EL >4 &) x € Gm,—isv Cl--i-rﬂ
Y= »fz(uz—:t)

CSTRETTAMEANTE)

bﬁé j:)ﬁ-“ R ) D dem’méo m&uaag_ NG, AT /fOo\/O‘i\OA/Z‘F CrgSce AT

—_—

A0 \fxa_"nz e D con % <3, W ba j(?(,_) éi(xz—) CJ('N,_7<G’P(KQB

;AJ> //\)/ |

/ Georonte

$3 dia HowoTowA CSTRETTAHEANTED DECRESCEANTE e
\U/¥4-(XL ed  (on X, €U Lo f(&)ia»ﬂ(uo (f[“a.)>f(7aD-

nY 18

St
CeosaYe

N S A
\ > St
oAocesscoNe
DOcra, N2
ME— ML

M f? TR—‘> R ) —b 6&)%\‘,,,\\‘0 Mﬁtwoﬁ bl le ne e 6@ 0-@2"‘1 —x Grb -
{8t e é T PAR\ e 2f[>«)= f(-)b /' xeDd (j(w\: @l(xz-mb
S\' »{;tq cla C‘]E i b\&PLqQ\ o @p(vx)= - f(x) Vx G—b ( f(w)= X33



PAR) » 1SpARY
& ”K 14 1y
: : e A
\ \ -2
AN & RAFLCO
DR e DU FuNBlONg =K
Iwngﬂ\éﬂ L»j=[—2,ﬂ
Nb?§()@/v: ?Qn-t

(&s (f(”h % ) (Cis j7m= S&m"c ~i>

e D
F\M’E[%: N:C\'XOMQ"'V\L\“—\C("Q-
%
R
o= 36" <
36:360 = A : 27 N
v
« = 38°% 2w -4
o)
o T ,S_%\,
(5" == ¥ R q
L
70 o - Ro]
18° = v R v SR+ G = A

o e [oF) &Mdédéqéo(

Lq, 2o St x 1 R Wio St o= St (r2w) ¥ e TR.
% %A Gr v R TR

Cr 3= Cn (2aes) -



m Sinoe oiser))
G (PAR))

5
P S ey \k

LQ_, }%Eiw\ (]; x R“’R M Téw.——-j;}_(x'f'ﬁ} VXG’\D
D= ﬂ%\{'}lrmr/lzezg

AN
X w Y 3
2 3 ' Zu S
(9 2
(>eppr)
& )

ES&‘QC(Z(O T’L«VD/& \{OMMM\'O M&v@.‘@_ ,(&mo_ff“,\_g 2 //r?ﬂ«c,o &

f(n)c ,%;L(I x—1] )



